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Mathematics Answer Key

{Question 1) (Question 5]
V6
- 5
6 marks
(Question 2]
x =18,y =40
Y 5
marks
(Question 3)
8,-2
5
marks
{Question 4]
31 ¢
i 5 5
39 marks marks

{Question 1)

1

a=- 7
6 marks

(Question 2]
17 8

y=—-x-30

2 marks

(Question 3}

The coordinates of points A, B and C are
9 9 9 .
A (~3, Z) ,B (—3, — 5) ,and C (3, — E) respectively.
Let the x coordinate of point D be t (t > 0) . Thus, the coordinates of point D are

D (t,%tz)

Connect points B and D to obtain the relationship
the area of quadrilateral DABC = the area of triangle DBC +
the area of triangle DAB

2
Hence, 6x(%+2)><%+%—}x(3+t)x%:54

2t24+9t—-81=0

t= 99
=97

Since t > 0, the x coordinate of point P is g.

.9
Answer: > 10

marks
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(Question 1]

For triangle AOG,

angle AOB = 90°, angle GOB = 15° (defined in the question)

Thus, angle AOG = 90° — 15° = 75°

angle BAO = 30° (defined in the question)

Since the sum of the internal angles of a triangle is 180°

angle AGO = 180° — 75° — 30° = 75°

Since two of the angles are equal, triangle AOG is an isosceles triangle with
angle AO = angle AG- + + @D

Also, angle AO = angle CO (defined in the question) + + + @

From @ and @, 7
CO = AG marks
(Question 2] 8
48° marks
(Question 3]
12-5v3 cm? 10
: marks
(Question 1] ;
80 cm? marks
(Question 2]
PQ=10- - -+ @
From BP = BQ, triangle BPQ is a right-angled isosceles triangle
BP _ 10 _ . e
BP=BQ=7=-=5V2 @
Since BE = 10, using Pythagorean Theorem PE = 5V6=QE+ - - @
From D, @), and @ the sum of the lengths of the sides is
20 + 10v2 + 10V6.
Answer: (20 + 10vV2 + 10v6) cm 10
marks
(Question 3]
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